Lecture 15: Aggregate Supply-
Aggregate Demand

e Current Events
* Aggregate Supply
e Aggregate Demand



The Natural Rate of
Unemployment

e “Long Run” P=PF°
« The wage and price setting relationships:

W = F(u,2)
P

P = 1l+p
W
=>
The natural rate of unemployment

F(uz) = 1
1+
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Wage setting

1 Price setting
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[note: A=1 again]



Aggregate Supply

W = PF(1-Y/L2)
P =(1+uW

=>

P = P*(1+ p) F(1-Y/L,2)



P = P°(1+ p) F(1-Y/L,2)

p /
p° /

PYt) = P(t-1) [for now] =>
AS:  P(t) = P(t-1) (1+ ) FO-Y(V)/L,2)

AS

Yn Y



Aggregate Demand
IS: Y =C(Y-T) +I(Y,D) + G

LM: M = Y L(i)




AD:

Y =Y(M/P, G, T)
+ o+ -

AD



Aggregate Demand - Aggregate
Supply

P AS

AD



AD-AS: Canonical Shocks

AD

Y

Monetary expansion; fiscal expansion; oil shock (figs 7-9/7-10/7-11)
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